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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 	16000 
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ELECTIVE COURSE : SOCIOLOGY 
ESO-16 : SOCIAL PROBLEMS IN INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : This question paper has three sections. Attempt 
questions as instructed in each section. 

SECTION - I 

Answer any two of the following questions in 
about 500 words each. 

1. What is meant by social transformation ? How 20 
does it lead to social problems in society ? 

2. What are the social consequences of 20 
urbanisation ? Explain with suitable examples. 

3. Discuss the labour laws for women workers in 20 
the unorganized sector in India. 

4. Examine the role of people's participation in the 20 
control and management of land in rural and 
urban areas. 
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SECTION - II 

Answer any four of the following questions in 
about 250 words each. 

5. Discuss the implications of rapid growth of 12 
population in India. 

6. Is unemployment increasing in India ? What are 12 
its consequences ? 

7. Who is a juvenile ? Should crimes committed by 12 
a juvenile be exempted from punishment ? 

8. How is drug, crime and politics interrelated ? 
	

12 
Explain. 

9. Discuss the issue of child labour in India. 	12 

10. What are the problems of education faced by tribal 12 
people in India ? Discuss. 

11. Define an ethnic group and explain the 12 
psycho - sociological problems it faces in India. 

12. What are the social, psychological and economic 12 
problems faced by the elderly in contemporary 
India ? 

SECTION - III 

Answer any two questions in about 100 words 
each. 

13. What do you understand by waste lands ? 	6 
Explain. 

14. What is meant by 'diminishing returns' in 	6 
agriculture ? 

15. Discuss the constitutional provisions for 	6 
scheduled castes. 

16. What is meant by 'bonded labour' ? Does it still 	6 
exist ? 
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